=
<
i

o(d dxy) (cm)

_% I 1 1 1 ] 1 1 1 I 1 1 1 1 1 11 1
a0c.zp - :»— * L
e ; F .
+— : X
T h ; 5
¢ 1.1 -} o [ -
e o A
B T +HETIT T
H:-4- hd K -+ 'Al'-o-
Gl SRR R - |-
: ¥ T4t T :
B i L | 9 B
H. -5 N -~ .
0923 2 -1 1 2 3

S
L

20 o
& L
/-\N
- I OO RCUTUR: T RTINS MO
KO Gk
S} i

I 11 1 11 1 11 1 11 11 1 1 11 1
: - d +1| |:
: 4 :
[: + T+ : L1 +
: T ] : ¥
H: <+ 4 E 2
H:4- -+ -+ * |4 |T]| i+ <+
B9 c A=l A= | 4T
FLT -t- -ttt L S| THTLT
- | L + ; -
- + * |41
b -+ o

,d
4

A 14 ] | A : -+

—=— DQM_CKF_TTbase

—e— DQM_CKF_TT_retrainOldFiles113
—+— DQM_CKF_TT_retrainOldFiles125

o(d o) (rad)

0.95 i

4 o+ =
<+ ; + i

10 1 2 3
TP ® (PCA to beamline)

o p_/p.)

1 0 1 2 3
TP ® (PCA to beamline)



	Contents
	Page 1


